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Written Test 1: Practice Questions (1)

What is the console output of the following lines of Java code?

int i = 37; | NeES+ 4= 31

int j _ Py
int k Jﬂ f’ 0

System.out.printIn(((i % I * (G / k) % 4);
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Your answer must be an integer value. ’2 % L
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Consider the following expressions. Which one(s) contain contain type error(s)?

4
d. ((double) 11 / 3)%" is what?"
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Written Test 1: Practice Questions (2)
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Written Test 1: Practice Questions (3)

The short circuit evaluation applies to both logical conjunction and logical disjunction. For the following descriptions, choose all that are correct.

a. In evaluating b1 || b2 at runtime, b2 is only evaluated if b1 is evaluated to true.
= B b.In evaluating b1 || b2 at runtime, b2 is not evaluated as long as b1 is evaluated to true.
a c. In evaluating b1 && b2 at runtime, b2 is only evaluated if b1 is evaluated to true.
—~J 9 d. In evaluating b1 && b2 at runtime, b2 is not evaluated as long as b1 is evaluated to false.
_a e. In evaluating b1 || b2 at runtime, b2 is only evaluated if b1 is evaluated to false.
f. In evaluating b1 && b2 at runtime, b2 is not evaluated as long as b1 is evaluated to true.
g. In evaluating b1 || b2 at runtime, b2 is not evaluated as long as b1 is evaluated to false.

h. In evaluating b1 && b2 at runtime, b2 is only evaluated if b1 is evaluated to false.
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Written Test 1: Practice Questions (4)
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Consider/the foHowing fragment of Java code (where you can assume that x is declared as an
integer fariable):

i1£@x 12 0]@8)10 / x > 5) {

System.out.println("Outcome 1");

Ik
else {
System.out.printin("Outcome 2");

}

When running the above Java code, which of the following values for variable x will generate the
following console output:

Outcome 2

a. None of the answers is correct.
CHS

O d. All of the answers are correct.
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Written Test 1: Practice Questions (5)
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efe you can assume that x is declared as an

Consider the following fragm
integer variable):

i£(10 / x >= 5 &&(x 1= 0)
System.out.printin("Outcome 1");
}
else {
System.out.println("Outcome 2");)(
}

When running the above Java code, which of the following values for variable x will generate the
following console output:

Outcome 2

a. All of the answers are correct.

’] -
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Written Test 1: Practice Questions (6)

Consider the following loop:
Y )

for(int i = —49.; i< —50;‘5'{
System.out.println("Outcome");

}

How many times will the stay condition be evaluated (to true or false)?

a. None of the answers is correct.
b. 101

c. 99

d. 100

e. 98

0

g. 97
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